@ 24 ® 36 @ 48 ® 50

D 12



th2 IO A cosA =

AH=12, BH=4V3 ¢ o

lF

O] 1,
9

C o] Fol?

B
!
4/5‘
\
— C
~~-12---""H
® 14 @ 16



3. T3 I"oA 9 0 9 §tx5<2] Hol7t 5,
BC =6 < o, cosA 2] = F#51H?

@
@

3
@g ®
® 2

IR TN
Wl



(¢}

=

oo

T w4 9= A2

1
tan45° =

@ tan tan45° )

@ sin?30° 4+ cos?60° = =

2
® co0s30°+ cos60° = cos90°

@ sind5° = cos45° x tan 45 °

® sin?30° + cos230° =1



=mx+n o] 17}

o}
x 23} oo Wgro 2 o2k 7o) 2715 4
al

tana

,m Fke HEPd 227

@ cosa-sina

cosa

sina




/B = 90° o1 27417V ABC of sl AB = gﬁ ol o, tanA 9|
ZHe akolal

5 J=X
=%



7.

o
ore 2

the % ARzl Y] ghe] 4 AR 4

tlo

R =9
@ sin45° = cos45° @ sin85° > sin 25°
@ sin40° > cos 20° @ cos10° < cos 80°
® sin75° > cos 75°



ohe 19 9] AABC oA AFZt

O 6.82
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43° 0.6820 0.7314 0.9325
44° 0.6947 0.7193 0.9657
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46° 0.7193 0.6947 1.0355
47° 0.7314 0.6821 1.0724
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ZI e sin cos tan
10° 0.1736 0.9848 0.1763
20° 0.3420 0,9397 0.3640
35° 0,5736 0,8192 0,7002
45° 0,7071 0,7071 1,0000
50° 0.7660 0.6428 1,.1918
70° 0.9397 0.3420 2.7475
89° 0,9998 0.0175 57,2900

sinx = 0.5736
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tanz = 2.7475
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